Pensieve header: Some foundational calculations for 8-calculus.

SetDirectory["C: \\drorbn\\Academn cPensi eve\\2012-04"1];
<< betaCal cul us. m

BSimplify =Full Sinplify;

Unpr ot ect [Log];

Log[E”"Xx_]1 : = X;

K[B[w_, u_]1]1 := Mdul e[{heads, &s, nheads},
heads = hL[B[w, ul];
&s = (D[u, h[#]] /. t[s_] =»cCs) & /@ heads;
nheads = MapThread[ (h[#1] »Log[1 +#2] / #2) & {heads, &s}1;
BCol | ect [B[w, u] /. Thread[ (h /@heads) - nheads]]
1
J[B[w_, p_1] : = Mdul e[{heads, ns, nheads},
heads = hL[B[w, ul];
ns = (D[u, h[#]] /. t[s_] =»Cs) & /@ heads;
nheads = MapThread[ (h[#1] » (Exp[#2] -1) /#2) & {heads, ns}l];

BCol | ect [Blw, u] /.

Thread[ (h /@heads) - nheads]]
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{b =B[w, at[1l]h[1l]+ Bt [2]h[2]],
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{b:B[w, at[l]h[1]+ Bt[l]h[Z] + yt [2]h[l] + 5t[2]h[2]],
b // hml, 2, 11,

b // 3,
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{b=B[w, at[1]h[1]+ Bt[1]h[2] + yt[2]1h[1] + &6t [2] h[2]],
b 7/ thswap[1l, 1],

b /73 7/ thswap[l, 1] // K
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b /7 thswap[l, 11,

b // 3 // thswap[l, 1] // K
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b /73 7/ thswap[l, 1] 7/ K
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